
[SUBTRACTION ] MATHEMATICS | CLASS- II 

Chapter-4 

SUBTRACTION 

wORKSHEET 

Solve: 

5 60 b.6880 
A. Estimate the following by rounding off to the nearest 10. 

5130 - 4590 
a) 9560- 543 2 b) 6875-4586 

B.Estimate the following by rounding off to the nearest 100. 430 
a) 3760 - 1782 b) 5982 3650 

9A 38006o0o 
800300 

C.Estimate the following by rounding off to the nearest 1000. 

a) 4992 - 4559 b) 1855-1920 

D. Subtract the following numbers. 

a) 68 36 and 8959 D&8951 
b) Take away 6 3 05 from 7243 

La.OOO *Ooo 
E. Solve the following 3123 5000 
a) 3569 + 2494 1241 -4635 

Db.7-213 
630 

o38 

b) 6745 +3621 9825+ 2626 

F356 O63 
4 

y8 

. Do as directed. 

A. Subtract the following numbers- 

H T 

6 063 4 6 

E.b 
O182 B.Find the differenç 

los 331 

62 6 

Th H T 

iS D3 6 OS 11 8 4 9 

O2q15 
ODM Educational Group 

Page 1 



SUBTRACTION ] MATHEMATICs | CLASS-I 

C. Subtract the following numbers. 

8 1 4 9 8 

6 56 89 
|S80 

D. A cinema hall had 2400 tickets. It sold 1924 tickets. How many tickets are yet to be sold? 

ANS. ALLmpr +ICKeES E. 
NUn HeL off LktSold= L| 

Iolal ckek_ Sold= 

E. Subtract the sum of 6432 and 1572 from the sum of 5468 and 8542. 

613 SH ANS. 

tac numbe alsa= 3t2t85. 

14alo 
Add 

eb ue Sabtka this tuo hunban- 
anSuen S=o boo6 

- END 
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